ROl 1084 Ak MR AR S %4 108 2

i%ﬂﬁ~2&~%ﬁkﬁﬂ?%$$%

L2

A IR
iiﬁyfi(‘%lj) =S
i B:@ﬂﬁﬁ(éﬁ&ﬁﬁ~&¢%ﬁ\@§@ﬁ)

TRER 2@ BB
MGLR <—>m,w¢+ L.
e 5%1 ?ii%£€%$%WﬁﬁpééF’”%éiJW€ﬁ T

(-)*%igfgf—mf—- g (S LA \‘]"Zﬁ—lé?ﬂ\@?_}lfg

— N ﬁ';—r ,.J: U — ,,\—sﬁi}\‘ ° (10&\>
2X, +6X, +X; =7
X +2X, =X, =-1
OX, + 71X, —4X, =9

10 _ .
N %KEA:(l 3)1%ﬁifﬁ(elgenvalues)fr%@:ré' ¥ (eigenvectors) o
(10 A~ )

S fET SRS AR o (10 &)
(ezy — yCOS xy)dx + (2xe2y — XCOSXY + 2y)dy =0

i

o~ R A A S A5t o (10 4)
Xﬁ_4yzx6€x
dx

J=4

- Bk e B Sdic (vector function) E F(X,y) = (3+2xy)i +(x* =3y%)j » 45
D SEcf B EF=Vf o (204)

2 2

7 fﬂ‘—ﬁ"ﬁﬁx—Jr y2+%=3i (2,1, -3) > FH *» T 5 (tangent plane) =
A2 50 ’f‘—"/z‘ # (normal line) = f25% - (20 4 )

= ~ B3R L 5 P4 2784 (Laplace transformation ) ﬁ%ﬁiﬁ'%ﬁ} o
S° +

(20 # )



